DU MA Philosophy

Topic:- PHIL MA S2
1) The central theme of Nyaya-sitra-states:

oeIrRIanT WGk e &

[Question ID = 11113]

1. Anatman / semea

[Option ID = 44446]
2. Dharma / i

[Option ID = 44447]
3. Atman / A

[Option ID = 44448)]
4. Karma / @l

[Option ID = 44449]
Correct Answer ;-
& Atman / amH

[Option ID = 44448]

2) The ‘six systems of Indian philosophy’ known as ‘sad-darsana’ consist of:

‘simactiar golor &5t we gunferl’ st & ‘usgoeler” wearndl 3 B &

[Question ID = 11114]
1. Buddhism, Jainism, Myaya, Carvaka, Vedanta, Yoga / alg oo, Stonrd, oommer, amafo, dgmwa

[Option ID = 44450]
2. Samkhya, Yoga, Nyaya, Vaisesika, Mimarhsa, Vedanta / s, =ier, seren, ddiftes, stamen, dewa

[Option ID = 44451]
3. Carvaka, Yoga, Jainism, Mimarmsa, Samkhya, Buddhism / ardfas, =i, Stowesl, sitaen, s, atg ot

[Option ID = 44452)
4. Jainism, Carvaka, Yoga, Nyaya, Vedanta, Mimarsa / Stenerd, amafas, =ier &1, delod, e

[Option ID = 44453]

Correct Answer :-

e Samkhya, Yoga, Nyaya, Vaisesika, Mimarhsa, Vedanta / s, =ier, e, dotft, s, desa
[Option ID = 44451]

3) Aphorism "Yogah Citta-Vrtti-Nirodhah" belongs to which chapter of Yoga Sutra:

et Rra-gft - Rl fow uie A dAafoera &

[Question ID = 11115]
1. Vibhuti Pada / fayfir-ure

[Option ID = 44454]
2. Samadhi Pada / monfs-uig

[Option ID = 44455]
3. Sadhana Pada / snusi-uig

[Option ID = 44456]
4. Kaivalya Pada / dace-uis

[Option ID = 44457]

Correct Answer :-
& Samadhi Pada / smnféi-urs
[Option ID = 44455]

4) Who is considered the Aristotle of India?

I3 T 3R¥(],... I DEI SR &
[Question ID = 11116]
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Kanada / ele [Option ID = 44458]
Udayana / sg=rar [Option ID = 44459]
Gautama / =firr [Option 1D = 44460]
Sankara / ormz [Option 1D = 44461]

P s

Correct Answer :-
e Gautama / =iirer [Option ID = 44460]

5) In Being and Nothingness, Sartre has proposed that life with others is:

diger 3ir aifdietoiar 3 a1 of yzma fam & b ol @ e Sitaa

[Question ID = 11117]
1. Always blissful / sden ansiféer sumen &

[Option ID = 44462]
2. Always very cordial / aden aga e yof 2

[Option ID = 44463
3. Promotes my freedom / 38 w=ecan @) agran 3o &

[Option ID = 44464]
4, Restricts my freedom / ## Favioen @t yREfee @ &

[Option ID = 44465]

Correct Answer :-
® Restricts my freedom / ¥ Fawicen @) gifmfdea o 2

[Option ID = 44465]

6) For Merleau-Ponty, phenomenology is the study of

[Question ID = 11118]
1. History / st

[Option ID = 44466]
2. Essences / #giara

[Option ID = 44467]
3. The world / 7mme

[Option ID = 44468
4, Others in my life / & ot 3 s

[Option ID = 44469]

Correct Answer :-
e [Essences / el
[Option ID = 44467

7) Which one of the following is not a kind of Abhava in Nyaya Philosophy?

ourr A anma o1 forger & wier A1 v yasiz odl 87
[Question ID = 11119]

Anyonyabhava / aeeiteemama [Option 1D = 44470]
Atyantabhava / sieerearam [Option 1D = 44471]
Prayogabhava / yzitsmsma [Option 1D = 44472]
Pragabhava / gmsma [Option 1D = 44473]

o bad P —

Correct Answer :-
e Prayogabhava / yeitsmma [Option ID = 44472]

8) The phrase “Will to Believe” is associated with which philosopher?

"farercfaeita” arawnor Roa crofforas o5 Jmer sist gam &7
[Question ID = 11120]

1. Jean Paul Sartre / Sior dien 2o [Option 1D = 44474]

2. William James / Bferm Swar [Option D = 44475]

3. Edmund Husserl / wsws gk [Option D = 44476]

4, A J Ayer / v amr [Option ID = 44477]

Correct Answer :-
o William James / Riferm S [Option ID = 44475]
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9) The Vienna Circle was closely associated with the

frron wadar @ i ... forasean 31 531 o

[Question ID = 11121]

1. Existentialist movement / afdea ach sister [Option D = 44478]
2. The Idealists / angsfardt [Option ID = 44479]

3. The Logical Positivists / difsmre tifSsifefieear [Option 1D = 44480]

4, The Anarchist movement / spmerrarnt sisias [Option 1D = 44481]

Correct Answer ;-
e The Logical Positivists / difarea aifsifefascar [Option ID = 44480]

10) The two philosophers most closely associated with Logical Atomism were

difsrar wlfdiea 3 wad saer o3 o avifors a

[Question ID = 11122]

1. A J Ayer and Gottlob Frege / w 31 aew itz siteciia @51 [Option 1D = 44482]

2. Rudolf Carnap and Jean Paul Sartre / #=1ew @maiu itz Sfian dier o] [Option 1D = 44483]

3. Bertrand Russell and Ludwig Wittgenstein / ads 73 aiiv osfie fResisresa [Option 1D = 44484]
4, F Ramsey and Karl Jaspers / vw Jmdt itz wicf st [Option ID = 44485]

Correct Answer :-
® Bertrand Russell and Ludwig Wittgenstein / ads 33 iiiv gsfim fesloresa [Option 1D = 44484]

11) A fundamental tenet of logical atomism is that

aifddas uzsmvgare a1 vw Fea Bigia &

[Question ID = 11123]

1. The world consists of atoms / gférn uzsmy 31 asft & [Option ID = 44486]

2. The world consists of facts / gforn ael 31 @oft & [Option D = 44487]

3. The world consists of possibilities / gforn samesiai 31 a@oft £ [Option 1D = 44488]
4. The world consists of arguments / gferm # awmt an 3w & [Option 1D = 44489]

Correct Answer :-
e The world consists of facts / gferm aeeil 31 geit & [Option ID = 44487]

12) According to Ayer meaning of a sentence consists in

IR @ o[ UM ararl @1 el &

[Question ID = 11124]
1. Description of actual verification / arsafés scangs @1 [azo [Option 1D = 44490]

2. Description of actual falsification / mwfes ffesmss a1 avfar [Option 1D = 44491]
3. Description of the possibility of verification / sremge =5t siwraen @1 Resor [Option 1D = 44492]
4. Description of the possibility of verification or falsification / sremum =1 ffermszo ot sisraen o avla [Option D = 44493]

Correct Answer :-
e Description of the possibility of verification or falsification / swemuer = firemasaor o5t siwmaen @ avfar [Option 1D = 44493

13) Which of the following groups of philosophers consists solely of logical positivists?

ciofforet @ foaifeiRan 98! & 3 i 31 afdde smaanfe=ii (logical positivists) @ &7

[Question ID = 11125]
1. Kant, Hume, Ayer / @iq, &, w=p

[Option ID = 44494
2. Ayer, Quine, Davidson / wr, Tgmsa, Sfsam

[Option ID = 44495]
3. Ayer, Carnap, Schlick / wm, awla, P

[Option ID = 44496]
4, Schlick, Carnap, Russell / Femp, melu, 336

[Option ID = 44497]

Correct Answer :-
e Ayer, Carnap, Schlick / mpr, omiu, Fom

[Option ID = 44496]

14) Which theory of punishment believes in giving penalty equivalent to the grievance caused by the culprit:

sl as1 @wial {1 Bigia sl g & o1 sifer @ awraz wen Sal A Rrars @ &:
[Question ID = 11126]
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Preventive theory of punishment / Jon am o a5 Bigia [Option 1D = 44498]
Retributive theory of punishment / wen @ gitielarenes @ Bigia [Option 1D = 44499]
Reformative theory of punishment / Jmm @1 Feneanct Brgia [Option |D = 44500]
Deterrent theory of punishment / 1 @ sritaea (322%) Bigia [Option ID = 44501]

P s

Correct Answer :-
® Retributive theory of punishment / Fen @1 gffreiemena @1 Bigia [Option 1D = 44499]

15) The term used by Anaxagoras for the mind was:

#Haoteh fe10 varaAEi SRI YRITs 915G o
[Question ID = 11127]

1. Eidos / wsra [Option ID = 44502]

2. Doxa / =wran [Option 1D = 44503]

3. Logos / @iwitar [Option ID = 44504]

4. Nous / gfg [Option ID = 44505]

Correct Answer :-
® Nous / gig [Option ID = 44505]

16) One of the most popular Atomists in Pre-Socratic tradition is:

I i Reuiaer 3d wa dieit uamaic: i 3 oo a:
[Question ID = 11128]

1. Zeno / St [Option ID = 44506]

2. Democritus / 2#fésest [Option ID = 44507]

3. Protagoras / qewizy [Option ID = 44508]

4, Anaximenes / aféi@ora [Option ID = 44509]

Correct Answer :-
® Democritus / 3aitiesea [Option 1D = 44507]

17) Ramanuja believes in-

TGSt fereare @ & -

[Question ID = 11129]

1. Svagata Bheda / =aent #ie & [Option 1D = 44510]
2. Sajatiya Bheda / wemfir dte 3 [Option 1D = 44511]
3. Vijatiya bheda / faamtter sig 3 [Option ID = 44512]
4. Vigata bheda / f@srar stc [Option ID = 44513]

Correct Answer :-
® Svagata Bheda / saeia die 3 [Option D = 44510]

18) Vaisesika does not believe in-

dorftras o1dl e & -
[Question ID = 11130]

1. Inference / e [Option ID = 44514]
2. Upamana as independent pramana / 3usner wep Facfed yamn o su 4 [Option I1D = 44515]

3. Dravya / ge [Option ID = 44516]
4, God / %=az [Option ID = 44517

Correct Answer :-
e Upamana as independent pramana / 3usnel wep aced gawr @ =u & [Option ID = 44515]

19) Loksamgraha Concept is found in-

ellBHa)E Uran S & -

[Question ID = 11131]

1. Gita / after & [Option ID = 44518]

2. Buddhism / atg gofer # [Option ID = 44519]
3. Jainism / Siel gofer 3 [Option ID = 44520]
4, Charvaka / arafat 3 [Option 1D = 44521]

Correct Answer :-
e (ita / aftem 3 [Option 1D = 44518]

20) Vaisheshikas believe in -

doiferes aera 2
[Question ID = 11132]
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7 Padarthas / v uziel [Option |D = 44522]
8 padarthas / ¢ ueref [Option ID = 44523]
9 padarthas / < usief [Option 1D = 44524]
16 padarthas / 3£ ugrel [Option ID = 44525]

P s

Correct Answer :-
e 7 Padarthas / wusrel [Option |D = 44522]

21) For Descartes, even an evil demon with magical powers can't deceive one against the proof of

eoord @ fero, sl aw fe sngd erfepil @ 21mer Aqrp vas gee oot ot @I £l ol ¢ ADn
[Question ID = 11133]

1. self / a=in [Option ID = 44526]

2. motion / aifer [Option ID = 44527]

3. the solidity of a chair / vas 31 &1 &1 arasen [Option 1D = 44528]

4. extension of a table / Bwar [Option 1D = 44529]

Correct Answer :-
o self / Fe=in [Option ID = 44526]

22) For Hume, causation -

I @ fere "orur”

[Question ID = 11134]

1. Is dubious / sifdsu & [Option ID = 44530]

2. Conditionally exists / murf & [Option ID = 44531]

3. Transcendentally exists / 3reirem  [Option ID = 44532]

4. Certainly exists / &ifm =u 31 af¥ara 31 & [Option ID = 44533]

Correct Answer :-
® |s dubious / sifgser & [Option ID = 44530]

23) The phrase ‘forgetfulness of Being’ is attributed to

arariier " o5 coiolia” e grer éen arm & -

[Question ID = 11135]
1. A, J. Ayer / vat amp

[Option ID = 44534]
2. Edmund Husserl / us#z gearel

[Option ID = 44535]
3. Martin Heidegger / anfds asdan

[Option ID = 44536]
4. J.P. Sartre / Sudt 7

[Option ID = 44537]

Correct Answer :-
e Martin Heidegger / anfdal arsdan

[Option ID = 44536]

24) Particular ideas, according to Hume, are united by ____

aH D e o gerr ___ @ wf¥nfera 3 ¥
[Question ID = 11136]

Computation / essceera / swmmwt [Option |D = 44538]
Association / w3yt / siues [Option ID = 44539]
Inseparable connection / aifftsirser e [Option 1D = 44540]
Mechanical contact / =nffe@s siaes [Option 1D = 44541]

b R =

Correct Answer :-
® Asspciation / ueif3mes [/ sioes [Option 1D = 44539]

25) According to Descartes, is a foundational, indubitable statement.

SUDICA D AR, ___ U ey, IRt el 8

[Question ID = 11137]

1. 1 have a body / 33 @ v iz & [Option ID = 44542

2. The world exists / gforn @ af¥aca & [Option 1D = 44543]

3. | think, therefore | am / & i &, arr: & & [Option ID = 44544

4. | do not think, therefore | am not / # il siraen &, aer: & @@l & [Option 1D = 44545]
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Correct Answer :-
e | think, therefore | am / # Jitamn &, s 3 & [Option |D = 44544]

26) Perception according to Merleau Ponty is

HIall @ 3roHR Y8l 5ol &

[Question ID = 11138]
1. Anact / wp @rf

[Option ID = 44546]
2. Science of the world / ssm an Rene 2

[Option ID = 44547
3. Deliberate taking up of a position / sl ug @t s ©rm &

[Option ID = 44548)]
4, Background from which all acts stand out and it is presupposed by them / a& yrouss Bt aft @rl forsead & afie e it anft g snoeren &

[Option ID = 44549]

Correct Answer :-
® Background from which all acts stand out and it is presupposed by them / ag geoa Bem it el Bsord € itz aftz s seft gd smeeran 2

[Option ID = 44549]

27) For Hegal, Master has self-approval due to

&a1el O SRR, AT A scH-droan et &
[Question ID = 11139]

His labour / 33 gpt grar [Option ID = 44550]
His Slave / 3o a3 gt [Option 1D = 44551]
His Idea / 3a® Frenz grer [Option D = 44552]
Perception / yresr gamm gt [Option 1D = 44553]

B L L

Correct Answer ;-
e His Slave / 32 ara1 gra1 [Option ID = 44551]

28) What kind of definition of technology has been given by Heidegger

8153912 of awollas &1 fva gz & afysma & 3
[Question ID = 11140]
1. Instrumental and anthropological / smemt afiz wier fErsit [Option 1D = 44554

2. Teleological and sociological / dsnferes Jfir spmerensd= [Option |D = 44555]
3. Functional and psychological / wagmre sz #mid=nferr [Option ID = 44556]
4, Teleological and scientific / uf¥vmaard sie dsuferas [Option ID = 44557]

Correct Answer :-
e |nstrumental and anthropological / smmer afiz smer f=mstt [Option 1D = 44554]

29) According to Sartre:

Al a5 oA

[Question ID = 11141]

There is no human nature. / @iz smem Fasma st £ [Option 1D = 44558]

Human nature has an essence. / smor@ @I gaofer @1 72 & [Option D = 44559]

Existence precedes existence. / aif3ara a1z 31 ugdt aen & [Option ID = 44560]

Human nature is conceptualised in God's mind. / e Faura S @ #ar 3 saemeon & [Option 1D = 44561]

B =

Correct Answer ;-

30) Dharma according to Purva Mimamsa is;

gdaftaizm @ e et 3

[Question ID = 11142]

1. A command that impels individuals to action / wes ander Sl siepe @) asl @vzar @ e Yda assen & [Option ID = 44562]
2. A religious injunction / v i f[&fer [Option 1D = 44563]

3. Aritual that needs to be performed / vas rgarer Brerp! aszon amagers & [Option 1D = 44564]

4. An injunction that rejects action / v ffér @l @1 Breder asxdt & [Option 1D = 44565]

Correct Answer :-
e A command that impels individuals to action / v ancer Sit #igper @t @l @wor @ fre f¥a @ & [Option ID = 44562]

31) Kaivalya as liberation is advocated by which one of the following systems of Indian Philosophy?
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HIgT @) Dacd D FU A ..... FRI FoR feen o sen 2
[Question ID = 11143]

1. Jainism / Sial [Option 1D = 44566]

2. Purva Mimamsa / ydaftsnizn [Option ID = 44567

3. Buddhism / @igi [Option ID = 44568]

4. Samkhya / iz [Option ID = 44569]

Correct Answer :-
e Samkhya / wiz=r [Option ID = 44569]

32) Matter as the ultimate reality is identified with

ag Fagia s siiferes ucrel o siffm I 8., weamm 8 ©
[Question ID = 11144]

1. Spiritualism / sremesrans [Option 1D = 44570]

2. Idealism / fasnaare [Option |D = 44571]

3. Materialism / sitférasare [Option ID = 44572]

4. Realism / azqars [Option |D = 44573]

Correct Answer :-
e Materialism / sitftmrars [Option 1D = 44572]

33) Intuition as the source of knowledge is argued by

ez Yl Dl Silel @ ALl @ WU 3 Fdior e &)

[Question ID = 11145]

1. M.N. Roy / i tiar 3fr [Option ID = 44574]

2. S.Radhakrishnan / ua smemyzuiar [Option ID = 44575]

3. Rahul Sankrutyayan / sige1 stieeeneral [Option ID = 44576]

4. Debiprasad Chattopadhyaya / = di agnezner [Option ID = 44577

Correct Answer :-
e S.Radhakrishnan / o semepeorst [Option ID = 44575]

34) Sri Auribindo’s philosophy is identified with

seltl szl @1 golor @war s 8

[Question ID = 11146]

1. Integral Yoga / sdfejar atsr [Option ID = 44578]

2. Materialism / sifferesane [Option ID = 44579]

3. Sahaja Yoga / ssarier [Option 1D = 44580]

4. Supernaturalism / afergesferesars [Option 1D = 44581]

Correct Answer :-
® |ntegral Yoga / sfeper =iw1 [Option ID = 44578]

35) The author of ‘Buddha and His Dhamma’ is

‘g 3z Jotool ten’ & oRa® &

[Question ID = 11147]
1. Dharmakirti / epkbift

[Option ID = 44582]
2. Vasubandhu / aasy

[Option ID = 44583]
3. B.R. Ambedkar [/ #t. a2 andsaz

[Option ID = 44584)]
4. Jyotiba phule / eiifern wet

[Option ID = 44585]

Correct Answer :-

¢ B.R. Ambedkar / 4l am aidsan
[Option ID = 44584]

36) Which one of the following is the technique of Ahimsa according to Gandhi?

slith @ aopae ol AcaEE & ®ior 2 &l 2
[Question ID = 11148]
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Satyagraha / ez [Option ID = 44586]
Swaraj / zazra [Option 1D = 44587
Brahmacharya / gl [Option ID = 44588]
Trust / eze [Option ID = 44589]

P s

Correct Answer :-
® Satyagraha / sr=mege [Option |D = 44586]

37) Vivekananda accepts one of the following positions regarding Maya:

AR @ Hoo 3 Ridwieic @& e a1 w6l 87

[Question ID = 11149]
1. Maya is unreal / sien ara &

[Option ID = 44590]
2. Maya is the source of unreal world / #RT 3% SFF © TR &

[Option ID = 44591]
3. Maya is conceived as a fact about the nature of the world / ek & Tanma o ad 3 #RD o6 e &

[Option ID = 44592]
4, Maya is the power of creator / i @t giffs &

[Option ID = 44593]

Correct Answer :-
® Maya is unreal / #en s &

[Option ID = 44590]

38) What according to Tagore is ‘surplus’ in man?

Il @ AR Hol=T A FITA &

[Question ID = 11150]

1. Universal and finite / snefsilar afiz s [Option 1D = 44594)
2. Infinite and Individual / s sfiz s=ifes [Option ID = 44595]
3. Universal and Infinite / Ziehiiar afiz arsa [Option ID = 44596]
4. Universal and finite / smelaifa sfiz sim [Option 1D = 44597]

Correct Answer :-
e Universal and Infinite / sdsita afiz awier [Option 1D = 44596]

39) The book An Enquiry Concerning the Principles of Morals is written by

oiferren @ Bigidl @ an # sqaridl gzaw so @ gri forxdt o1 8

[Questiun ID=111 51]
1. Kant / @i

[Option ID = 44598]
2. Hume / &m

[Option ID = 44599]
3. Nietzsche / slical

[Option ID = 44600]
4. Aristotle / arzsg,

[Option ID = 44601]
Correct Answer :-
e Hume / &m
[Option ID = 44599]

40) Who among the following argued for Justice as fairness?

Bl @ WU H oarr B gorera Rpa of &t o?

[Question ID = 11152]
1. John Dewey / Siimr gt

[Option ID = 44602]
2. Jeromy Bentham / sl dedia

[Option ID = 44603]
3. John Rawls / Sifar dicn
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[Option ID = 44604]

4. John Locke / S eiics

[Option ID = 44605]

Correct Answer :-

John Rawls / aifer 3iea

[Option 1D = 44604]

41) Liberal theory is based on the principle of

Jerarct figia... @ orm uz smenfya 2
[Question ID = 11153]

1.
2.
3.
4,

Collectivism / z#gas [Option ID = 44606]
Socialism / ssustare [Option 1D = 44607]
Individualism / rffsars [Option 1D = 44608]
Communism / smwerara [Option 1D = 44609]

Correct Answer :-

Individualism / safépars [Option 1D = 44608]

42) Who authored The Communist Manifesto?

wagforze Afordzel.. of forzam

[Question ID = 11154]

1.

Stalin / zerfemr

[Option ID = 44610]
Lenin / dife=

[Option ID = 44611]
Marx and Engels / wmat sfiz vdica

[Option ID = 44612]
Frantz Fanon / s Geila

[Option ID = 44613]

Correct Answer :-

Marx and Engels / st aiiz vaten

[Option ID = 44612]

43) Who among the following argued for casteless society?

srfcfadls s & ulyeoaer ..... .o 6
[Question ID = 11155]

1
2
3.
=

. M.K. Gandhi / i a3 aifeft [Option 1D = 44614]
. B.R. Ambedkar / dt amz aidsasz [Option 1D = 44615]

Rajaram Mohan Roy / sramem #itgat 3= [Option 1D = 44616]

. 5. Radhakrishnan / w1 sturpworer [Option 1D = 44617]

Correct Answer :-

B.R. Ambedkar / d amz aii@=asz [Option ID = 44615]

44) Who among the following is not a liberal thinker

forgeiferf3ae af A ®lol Jorardt e oEf 3
[Question ID = 11156]

1.
2,
3.
4,

Locke / &ias [Option 1D = 44618]

Kant / @wic [Option 1D = 44619]

Rawls / dfesr [Option ID = 44620]
Maclntyre / fiepgaerrz [Option 1D = 44621]

Correct Answer :-
® Maclntyre / flessoerz [Option 1D = 44621]

45) According to Kant, Enlightenment could not be understood by

Wi @ MG[AR, oD FI1 6N Wl olél HAST Sl JDAl &

[Question ID = 11157]

bt ) =

. Man's emergence from self-incurred immaturity / soer &t smiyuaar 3 #ep o sga [Option 1D = 44622]
Affective side of human nature / e gapfer a1 smarcaa g [Option 1D = 44623

. Rationality of human beings / s &t difiasan [Option ID = 44624]

. Paternalism of the Church / ad @1 gea [Option 1D = 44625])
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Correct Answer :-
e Affective side of human nature / swsra yasler a1 simareses ugt [Option 1D = 44623)

46) lIsaiah Berlin is associated with

sarne afeler FwEftr 8

[Question ID = 11158]

1. Two concepts of liberty / Faviven @5t 21 srmememmait 3 [Option 1D = 44626]
2. Communitarianism / s@ysr ais 3 [Option 1D = 44627]

3. Idealism / smmefars 31 [Option 1D = 44628]

4, Paternalism / fqgares 3 [Option ID = 44629]

Correct Answer :-
& Two concepts of liberty / zadien &5t & sraenzunaii 3 [Option 1D = 44626]

47) Dworkin has not discussed about

gdifddor of forsetfcrfiae 3 A Roadt aaf orfl &1 &7

[Question ID = 11159]

1. Equality of resources / s @5t spnarn [Option D = 44630]
2. Equality of welfare / &iay-meemor o5t s [Option ID = 44631]
3. Compatibility theory / smpaern @1 Bigia [Option ID = 44632]
4, Luck egalitarianism / smee1 s [Option 1D = 44633]

Correct Answer :-
& Compatibility theory / agfaseen a1 Bigior [Option 1D = 44632]

48) Which of the following is not an organ of state according to Kautilya?

wifeen @ oA Wiol AU @I 03T oIl &7
[Question ID = 11160]

1. Danda / &= [Option ID = 44634]

2. Amatya / ammer [Option 1D = 44635]

3. Swami / >weit [Option ID = 44636]

4, Varna System / avi [Option 1D = 44637]

Correct Answer :-

& Varna System / aof [Option 1D = 44637]

49) “If Kautilya wrote a book, Kautilya is famous. Kautilya is not famous. Therefore, Kautilya did not write a book.” This
inference is an instance of

“afe wifécw of v gaam ferxdl, Al wifeca qing 2 wifeca yiicg odl & safew, wifeca of v [dbama ordl ferxdl ” @16 srepnel forsstferian 3 2
Rozast acrsavor &

[Question ID = 11161]

1. Disjunctive Syllogism / [& s5ifered Bieelifozm [Option 1D = 44638]

2. Modus Tollens / #itsar @ik [Option 1D = 44639]

3. Modus Ponens / #itsar disiar [Option 1D = 44640]
4, De Morgan's Law / 2t #istar @1 fBrm [Option 1D = 44641]

Correct Answer :-
® Modus Tollens / sitsar &ictar [Option 1D = 44639]

50) A contingent statement is

v HreEaa ot

[Question ID = 11162]

1. Never true / @it e s gl [Option 1D = 44642]

2. Never false / walt s ol @ien [Option 1D = 44643]

3. A tautology / v Scieistt alen & [Option ID = 44644]

4, Sometimes true / mft-awit 2 @em & [Option 1D = 44645]

Correct Answer :-
e Sometimes true / mufl-auit 7/ gl & [Option 1D = 44645]

51) “The Dalai Lama believes in rebirth which is unscientific. Therefore, the Dalai Lama cannot be trusted about
anything.” This statement commits which kind of fallacy

“goré e Yetsloa 3t ferars @owa € ot adsnfors 2 safém, cordann o 3ad 11 6l 31 ardl U2 3210 oiél e s Jwmar & ¢ 591 oo i
e gas1z @1 Seamind &
[Question ID = 11165]
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Denying the antecedent / yd esier @1 siasrzon [Option 1D = 44654]
Argumentum Ad Populum / anesfdie os digam [Option ID = 44655]
Argumentum Ad hominem / amsfiie vs afiomn [Option ID = 44656]
Asserting the Consequent / amjadl @t Brg @an [Option 1D = 44657]

P s

Correct Answer :-
® Argumentum Ad hominem / amefdle us gificmn [Option 1D = 44656]

52) Eidetic Reduction by Husserl involves -

gzact &t Eidetic Reduction @ onfirar 2 -

[Question ID = 11167]

1. Ideal forms / angef ¥u [Option ID = 44662]

2. Variants in imaginative variations / @eusngiier =uraz 3 fwaeicn [Option |D = 44663]

3. Invariants in imaginative variations / weuanglicr =uiz & smf¥adoelicrn [Option ID = 44664]
4. Aesthetic forms / zifcef =a [Option 1D = 44665]

Correct Answer :-
® [nvariants in imaginative variations / @eusngiier Fuimz 41 smbradersiierar [Option 1D = 44664]

53) “One cannot know something without believing it.” This is an illustration of

“fep=it werar @1 favara e faon ©o uar oidf aa Ao & " as et rafliaa i A feae! gorfar 87
[Question ID = 11168]

1. Modus Ponens / #irsa disx [Option 1D = 44666]

2. Modus Tollens / st &cis [Option ID = 44667]

3. Aninformal fallacy / ves asilumni¥es camra [Option 1D = 44668]

4. A statement made in epistemology / stot #fiwizn @1 ves aserar [Option 1D = 44669]

Correct Answer :-
® A statement made in epistemology / imor afioizn @1 ves @wem [Option 1D = 44669]

54) “If Chanakya is dreaming that he is writing, then Chanakya does not know that he is writing. Chanakya is dreaming
that he is writing. Therefore, Chanakya does not know he is writing.” This is

"3S13 TTaA Jdell S 361 & [ as e ve1 &, o avraa o) oiél aar @5 as érea 381 8 awraw wgen 2 38 8 @ as Rrea @ 8 safée, awmaa

oldlomond fpas fera 8" A &

[Question ID = 11169]

1. An Invalid argument / o aida aas [Option 1D = 44670]
2. AValid argument / wes 8 aed [Option ID = 44671]

3. Not an argument / e aidl & [Option ID = 44672]

4. A contradiction / v BEStemms [Option 1D = 44673]

Correct Answer :-
e A Valid argument / wep der aat [Option ID = 44671]

55) “Tables are made of atoms; therefore, a table is an atom.” This argument is the fallacy of

“Zac AW A dol Bl 8, sufew, uvw uzam] & ' A ao e gramim ot gerfar &7
[Question ID = 11171]

1. Red Herring / ¥s &f3a [Option ID = 44678]

2. Ad Populum / amefffes arz digerst [Option ID = 44679]

3. Fallacy of Division / fsirsiel @1 camsira [Option 1D = 44680]

4. Fallacy of Compaosition / seElaret @ &carsns [Option 1D = 44681]

Correct Answer :-
e Fallacy of Composition / sehsm @1 &ranoa [Option 1D = 44681]

56) Traditionally the laws of thought are:

1. law of non-contradiction

2. law of identity

3. law of contradiction

4, law of excluded middle

Choose the correct answer from the options given below:

UIUETd WU A Rant @ asielor &

1. 3i7 RRemsma o1 GrEr

2. FA#HFUAl @1 R

3. Reremira @1 orm

4, afdeasa e @ foraa
forgaiteri3an 3 31 i1 a1 WL B:
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[Question ID = 11172]

1, 2and 3 / 1, 2 sz 3 [Option ID = 44682]
2,3 and 4/ 2, 3 3z 4 [Option ID = 44683]
1,2and 4 / 1, 2 3iiz 4 [Option ID = 44684]
1,3and 4 / 1, 3 3iiz 4 [Option ID = 44685]

bt ) =

Correct Answer :-
e 1,2and4 /1, 2 3fiz 4 [Option ID = 44684]

57) Which one of the following is not a correct symbolization of DNF:

foraaiférfan af 21 @olor 311 DNF  @o1 91dl yellesiemas wu o1l &:

[Question ID = 11173]
1. pvQ

[Option ID = 44686
2. (p-~q.1) V(-p.~q. - T}

[Option ID = 44687]
3. (peq)vr

[Option 1D = 44688]
4. =(p=q) v-(p-r)

[Option ID = 44689]
Correct Answer :-

58) "My grandfather was a learned man". This is a

A3 crerell vas siell safvs 4 U aE vas

[Question ID = 11176]

1. Statement of fact / reeneres @em & [Option |D = 44698]

2. Non-moral value judgment / el searces Gk 2 [Option 1D = 44699]
3. Value judgment / seencann Gl & [Option ID = 44700]

4, Relation of ideas / greril @ s@as & [Option 1D = 44701]

Correct Answer :-
e Non-moral value judgment / el fgeems Bk & [Option 1D = 44699]

59) Which of the following is false as per Aristotles’s concept of eudaimonia?

bl IsEaAlforn & s@emun @ e heefaliaa 3 21 wia a1 wew IR &

[Question ID = 11177]

1. Eudaimonia is a supreme human good / smtforn o adfca weta acers 8 [Option 1D = 44702]

2. Eudaimonia consists in achieving greatest happiness of greatest number / =Ealfor i afeeran FE afdesan sen © o & [Option 1D = 44703]

3. In the state of eudaimonia people realize their capacities and are fully human / ZsEaiiorn &t Beer 3 oier el sl @ vesrs o & e @i aes 3 smer

gxt & [Option ID = 44704]
4. A eudaimon life consists of all intrinsically worthwhile actions / ws1swer sftaer # forféa & mritor 2iwga smer @ wu # w7 [Option ID = 44705]

Correct Answer ;-
e A eudaimon life consists of all intrinsically worthwhile actions / szt Sftaar # fofdn & writor Jureer 2mer @ ¥u 3 war #@ [Option ID = 44705]

60) Mill modified Bentham’s ethical theory by

farcrol dera @ siferes Brgia @ srenfia foen

[Question ID = 11178]

1. Rejecting utilitarianism / 3whBramae @) aedicsz @2 o [Option ID = 44706]

2. Including a qualitative distinction between pleasures / 3z @ dia spneres dig afiwicra w2dy [Option D = 44707]

3. Making a distinction between general terms and singular terms / e grea] Jfly wepdesl olea] @ dia ves dig @en @ [Option |D = 44708]
4. Rejecting notions of obligation by employing logic / e BrElfSa e © &g oilifra @ et ol adior @2 @ [Option 1D = 44709]

Correct Answer :-
® |ncluding a qualitative distinction between pleasures / 3z ¥ dia s e af#wfen oy [Option 1D = 44707]

61) Which of the following would the utilitarian regard as wrong in all possible circumstances?

forgaifeiiaa & 21 wia a1 il Fpofaa abyRaftrl # sunPBramadt @ e sea sen?

[Question ID = 11179]

1. Violating someone’s rights. / st & arfdies3di am1 3eeiga assn [Option 1D = 44710]

2. Performing an action that is not optimific. / oo ol fwen avwson S enerara si@t 2 [Option 1D = 44711]

3. Killing an innocent person. / wE BiE sifPs @t smeen [Option 1D = 44712]

4. Maximum happiness to maximum number of people / affrsam cieil @1 afersas olt [Option 1D = 44713]
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Correct Answer :-

e Performing an action that is not optimific. / na #eft foen avsen 3t enwrara aidf 2 [Option ID = 44711]

62) Whose belief was it that feeling cannot be the motive for moral action; moral action must be done for the sake of duty
alone?

fepardhl ez s #ff e so sifere @il @ fere Qzon ordl 81 Al &; daa odea @ &q oifere @il s sen arfde?

[Question ID = 11180]

. G. E. Moore / 5ft4 5z [Option ID = 44714]

J. S. Mill / Stear fier [Option ID = 44715]
Bertrand Russell / a&s #3%1 [Option ID = 44716)
|. Kant / ans. @sic [Option ID = 44717]

B N R

Correct Answer :-
e | Kant / and avic [Option ID = 44717]

63) What is a hypothetical imperative, according to Kant?

@ic @ 3Mo[AR, U ulvmd A Ml (srudifesassziea) o 87

[Question ID = 11181]

A command of reason that depends on our desires. / v e st s seonall w fonts wxn & [Option ID = 44718]

A command of reason that does not depend on our desires. / v ander ait sandt seorail w fonls aidf & [Option 1D = 44719]
A principle of action that one gives to oneself. / v ander oit s uz cma & [Option ID = 44720]

A principle of action that one gives to others. / v ander 5l g3t w2 cmeg @ & [Option 1D = 44721]

B P

Correct Answer :-
e A command of reason that depends on our desires. / was ander it &ardl seerall w2 sl waan & [Option ID = 44718]

64) Which ethicist argues for the equality of all animals?

wiot A1 silferomafl 21efl seraRl &t Faerar @ e ad @ 87

[Question ID = 11182]

1. Bertrand Russell / @@z 33 [Option 1D = 44722]
2. Kant / @sic [Option |D = 44723]

3. Peter Singer / dle2 Biarz [Option ID = 44724]

4, Amartya Sen / ameel 3a1 [Option 1D = 44725]

Correct Answer :-
® Peter Singer / diez Bz [Option 1D = 44724]

65) Which one of the following philosophers has coined the term "Deep Ecology"?

frsifeiBaa 3 A R el a1 "Su-soldisl" ue & saesn & 3:

[Question ID = 11183]

1. Susan Moller Okin / = #ilee aitidsar [Option 1D = 44726]
2. Simone de Beauvoir / Bmiter & gam [Option 1D = 44727
3. John Rawls / sifer 3fea [Option 1D = 44728]

4, Arne Naess / i orr [Option 1D = 44729]

Correct Answer :-
e Arne Maess / al a1 [Option 1D = 44729]

66) For whom is Pafnchasila an essential part of ethical life?

foaad stapar derila oiftras sitast ast vas siforart @ &
[Question ID = 11184]

1. Gautam Buddha / sitem g [Option |D = 44730]

2. Mahatma Gandhi / sz aneft [Option 1D = 44731]

3. Kautilya / wifée [Option ID = 44732]

4. M. N. Roy / i war 3 [Option ID = 44733]

Correct Answer :-
& Gautam Buddha / sifem g5 [Option 1D = 44730]

67) Which one of the following is the correct meaning of 'Samwvara’ in the ethics of Jainism?

Stol offfer-omae @ R 'Fae " @1 w8 aref oerferflaa 3 3 aan &

[Question ID = 11185]
1. Stopping the influx of karmas towards jTva. / Sia 3 awf-uere! @& smados @ e

[Option ID = 44734]
2. Destruction of the impressions of karmas / ast o5 sz o5 site & Su6n
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[Option ID = 44735]
3. Avoiding karmas [/ & a5 cae) @5ssl

[Option ID = 44736]
4. Renunciation of the fruits of action / @t wer 3 it

[Option ID = 44737]

Correct Answer :-
@ Stopping the influx of karmas towards jiva. / Sfa 3 aul-ucrel & seafae @ R

[Option ID = 44734]

68) The method of dialectical materialism is proposed by

Loleaa siffarasare &) yonetl fsaas gra & a1
[Question ID = 11186]

1. Hegel / &3 [Option ID = 44738]

2. Kant / a@sie [Option ID = 44739]

3. Socrates / Fsaa [Option D = 44740]

4, Karl Marx / @oret smrst [Option 1D = 44741]

Correct Answer ;-
o Karl Marx / @t smast [Option 1D = 44741]

69) '‘Bodhabodh Svabhav Samagri Pramanam' is the definition of Pramana given by ____

yarmor &t ufysmur ‘Srendter ras@E sl gamwi’ grl &t it

[Question ID = 11187]
1. Janism / Glal

[Option ID = 44742]
2. Mimamsa / saien

[Option ID = 44743]
3. Nyaya / oot

[Option ID = 44744]
4. Sankara / iz

[Option ID = 44745]
Correct Answer :-
® Nyaya / &I

[Option ID = 44744)

70) E. V. Ramaswamy 'Periyar’ is popularly known for his identification with

£ a1 wanranit oy’ buerfciRaa # Reaa sge @ onun R 87

[Question ID = 11188]
1. Self-Respect movement and Atheism / - W9 aMcTcl Ud alii3aaodig

[Option ID = 44746
2. Sarvodaya / xdiga

[Option ID = 44747
3. Saiva siddhanta / dta Bigia

[Option ID = 44748
4, Veerasaivism / dizdlaare

[Option ID = 44749]
Correct Answer :-
e Self-Respect movement and Atheism / ama- s sigicior vd anfmmars

[Option ID = 44746]

71) Phenomenology as a philosophical study, focuses on

vas crolfores siearmel @ wu 3 Balldeidisi s ur dfea 2

[Question ID = 11189]
1. Metaphysics / et

[Option ID = 44750]
2. Moral conflict and freedom / iferes 2iend sfiz Fadaen
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[Option ID = 44751]
3. Experience [/ amaps

[Option ID = 44752)]
4. Physical and material phenomena / #iféres 3fiz asger@ (material) aesms

[Option ID = 44753]

Correct Answer :-

e Experience / sopie

[Option ID = 44752]

72) John Rawls belongs to the political tradition of

siferdical oA Iewiftee uiaer A I3 gue

[Question ID = 11190]

1. Communitarianism / sserrns [Option 1D = 44754)
2. Conservatism / =féma [Option ID = 44755]

3. Liberalism / sarars [Option 1D = 44756]

4, Marxism / smersfens [Option 1D = 44757

Correct Answer :-
e |iberalism / 3grars [Option 1D = 44756]

73) ‘Caste system is not a merely division of labour, but also a division of labourers’, is the statement of

e el foa @1 2 1 'onfdr caazren w 91 Rrirsior odl, aver 9ffdrasl oot o1l fRrsneiod’

[Question ID = 11191]

1. Karl Marx / @it smret [Option 1D = 44758]

2. MK Gandhi / ua o, aifedt [Option ID = 44759]

3. B.R. Ambedkar / dt. a2 amdsasz [Option ID = 44760)
4. M.N. Roy / wa war. 3k [Option ID = 44761]

Correct Answer :-
e B.R. Ambedkar / . aiz. ss@=asz [Option ID = 44760]

74) Which of the feminist theory argues for significant connections between the oppression of women and oppression of
nature?

forsarferRan 3 21 wial 1 adlaidt RBigia Beri & grnson va ymfer & garsen @ aea oo Ascaygvl weacer renfiea waan &7
[Question ID = 11192]

1. Socialist Feminism / sememac sidfars [Option ID = 44762

2. Liberal Feminism / 3erraid amdlarg [Option 1D = 44763]

3. Ecofeminism / mb¥edeeft amftarg [Option 1D = 44764]

4. Radical Feminism / 39 aidlarg [Option |D = 44765]

Correct Answer :-
e Ecofeminism / wi¥fZeferbt sndtare [Option 1D = 44764]

75) Who among the following has NOT given priority to an individual’s liberty over the social good?

forFaiferlaa 3 21 ool Gufivw Fdqgar @ apnfw 9w A it dea J8idis ?

[Question ID = 11193]
1. Kant / @ie

[Option ID = 44766]
2. Locke / dimw

[Option ID = 44767]
3. Hobbes / gien

[Option ID = 44768]
4. Lenin [/ difemr

[Option ID = 44769]

Correct Answer :-
e |lenin / difem

[Option ID = 44769]

76) Which among the following is not correctly matched?
forsaferRaa & Jrasior w1 sisT 3t odt 8

collegedunia:

India’s largest Student Review Platform




[Question ID = 11194]
1. Rawls - The concept of Overlapping Consensus / 3fca - aiftremrica staen @6t srremaon

[Option ID = 44770]
2. Kant - The concept of perpetual peace / @ic - 9Pt onfel @5t sTEEmZoN

[Option ID = 44771]
3. . Berlin - Positive and negative liberty / ané afefor - sraRrem vd sroRIHD I

[Option ID = 44772]
4, Herder - Absolutism / #27 - Blsme

[Option ID = 44773]

Correct Answer :-
® Herder - Absolutism / & - Btsre

[Option ID = 44773]

77) Who said: “Enlightenment is man's emergence from his self-imposed immaturity”?

Rpt0l a1 : "iElica Aol BI AMcH-3ARIA 3rafyudaa 3 s orbcon 2”7

[Question ID = 11195]

Locke / wias [Option ID = 44774]
Foucault / wst [Option ID = 44775]
Hobbes / dfes1 [Option ID = 44776]
Kant / @i [Option 1D = 44777

B Y

Correct Answer :-
e Kant / @ie [Option |D = 44777]

78) Gandhi’s view does NOT include:

forgaiferi3an 3f 21 wlor =1 a1ieh @1 fean ordl 8

[Question ID = 11196]
1. The notion of trusteeship / ¢t &t amemaon

[Option ID = 44778]
2. Capitalism / gsftars

[Option ID = 44779]
3. De-centralization / frbodlasam

[Option ID = 44780]
4. Gram Panchayat / sericemE

[Option ID = 44781]
Correct Answer :-
e Capitalism / gsftars
[Option ID = 44779]

79) Who among the following is NOT a social contract theorist?

PrafeBan 3 A ®ia aEnbe aaEiaad ol &

[Question ID = 11197]
1. Thomas Hobbes / eifwz disa

[Option ID = 44782]
2. Immanuel Kant / saAmEpe mic

[Option ID = 44783]
3. L5 Mill / 3 A B

[Option ID = 44784]
4, John Locke / Sifer cift

[Option ID = 44785]

Correct Answer :-
e .S, Mill / 31 w1 B

[Option ID = 44784]

80) If you don’t know P, where P is any statement, then it follows that

afe sma P @t o1l sier 3, o P uas araer 8, ot 533t B alan 3 :
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[Question ID = 11198]
1. Pistrue / P mcar &

[Option ID = 44786]
2. Pisfalse / P s &

[Option ID = 44787]
3. Either P is true or P is false / =n e P 3weer 2 & amrea

[Option ID = 44788]
4. Neither P is true nor is P false / ar eit P swer & ar arensr

[Option ID = 44789]

Correct Answer :-
e Either P is true or P is false / = ¢t P 771 & =1 arere=

[Option ID = 44788

81) The standard definition of knowledge is that it is

stror &bl et af¥smar 2:

[Question ID = 11199]

1. True belief / w1 Feara [Option (D = 44790]

2. Justified belief / s Frearm [Option 1D = 44791]

3. Justified true belief / swenfirr 2w frarr [Option 1D = 44792]
4, Self evident belief / Fa-wrenfie Ffram [Option 1D = 44793]

Correct Answer :-
e Justified true belief / srenfie s frears [Option 1D = 44792

82) Which of the following statements would be true for George Berkeley?

aascl @ Hoos # foraor A 3 @wior a1 A= Aca aen?

[Question ID = 11200]
1. It is possible for us to obtain knowledge of material world. / #iféras SerT a5 se g assen & fén sma 2

[Option ID = 44794]
2. It is possible to attain knowledge only of the ideas about object. / axail @& Frendi a1 suer g as2 an & s e siea &

[Option ID = 44795]
3. Ideas in the mind correspond to some external entity. / & o1 o ez ol of Bl aes &5t avg 3 saifear 7&n 8

[Option ID = 44796]
4, |dea or thought about an object cannot give a complete knowledge about it. / Fssit asq @1 yrerr en Brens 31 axg o8 ard 3 yof sier sdf & s

[Option ID = 44797]

Correct Answer :-
® |t is possible to attain knowledge only of the ideas about object. / azqail @ et @1 el yra @3 o & s fw s 2

[Option ID = 44795]

83) Descartes was unusual amongst rationalists in holding that

cwred o giy arfd=n 3 srerer & a=iifds s #Awian &:

[Question ID = 11201]
1. Mathematics was beautiful / sfir Fgz 8

[Option ID = 44798
2. Mathematics was known by intuition / aifdrr @} siviysn 3 amen an s &

[Option ID = 44799]
3. Mathematics could be false / aifirT s & wawdt 2

[Option ID = 44800]
4, Mathematics had a deductive structure / siftia &5 sizoen Bewiears 2

[Option ID = 44801)

Correct Answer :-

& Mathematics could be false / afinT st & sdt &
[Option ID = 44800]

84) According to Hume, is not a principle of connection among ideas

&N D AR Yozl D aie forror A A wiol A1 FIae ol &1 Awar a7
[Question ID = 11202]
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1. Cause or effect / mrfawo an [Option 1D = 44802]

2. Resemblance / sr=uean a1 [Option ID = 44803]

3. Randomness / =refesasan @ [Option 1D = 44804]

4. Contiguity in time and place / &a sftv @ore1 3t sfcorasea @61 [Option 1D = 44805]

Correct Answer :-
® Randomness / aefR@asn @ [Option ID = 44804]

85) ___ argued for Asatkaryavada

IRITPRIAG A6l &

[Question ID = 11203]
1. Vishwanath / Rreaene &

[Option ID = 44806]
2. Vacaspati Misra / arazufer o

[Option ID = 44807
3. Buddha / gg a

[Option ID = 44808]
4, Ramanuja / ¥emaps o

[Option ID = 44809]
Correct Answer :-
o \Vishwanath / [Eeaere &

[Option ID = 44806]

86) 'pramana as avisamvadi' is the definition of Pramana given by

[Question ID = 11204]

1. Jainism /[ 3=

[Option ID = 44810]
2. Mimamsa / sizn

[Option ID = 44811]
3. Nyaya / o=t

[Option ID = 44812]
4. Buddhists / «itgl

[Option ID = 44813]

Correct Answer :-

e Buddhists / atgt
[Option ID = 44813)

87) Arthapattiis accepted by ____

sreriafer o1 ¥dlasz Rsn srn:

[Question ID = 11205]

1. Prabhakar only / gz gra

[Option ID = 44814)
2. Prabhakar and Kumarila / ysirs2 itz qunf¥a Sleil g

[Option ID = 44815]
3. Nyaya / o2 g

[Option ID = 44816]
4. Carvaka / aala gran

[Option ID = 44817]

Correct Answer :-

e Prabhakar and Kumarila / gsms sz gwntya Siail grar
[Option ID = 44815]

88) The Buddhists accepted

dig ¥dlor o &
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[Question ID = 11206]
1. Pramanavyavastha ! yamn srazen (Pramanavyavastha)

[Option ID = 44818]

2.

Viaparitakhyati / Feadta =@ (Viaparitakhyati)

[Option ID = 44819]

3. Pramanasamplava / gyamr smera (Pramanasamplava)

[Option ID = 44820]

4, Alaukikakhyati / arefffeas xenfer (Alaukikakhyati)

Co

[Option ID = 44821]

rrect Answer ;-
Pramanavyavastha / ymmr @azen (Pramanavyavastha)

[Option ID = 44818]

[Question ID = 11207]

1.

3:

Dignaga / e

[Option ID = 44822]
Sarvastivada / malGmar

[Option ID = 44823]
TIsvarakrsna / $eazamo

[Option ID = 44824]
Candrakirti / coghiit

[Option ID = 44825]

Correct Answer :-

Candrakirti / aogdbiic

[Option ID = 44825]

90) ‘Scientific experiment never could show conclusively that there are no ghosts, therefore | strongly believe that ghosts

do exist’ is an instance of any one of the following:

‘snfores geT @59l o1t @18 o1l Ram woan o @1 ya ordl 8, sufde ¥2) e6 Rrar 2 o ya dlse & raiiii¥aa 3 A ag el ve o1 s

&

[Question ID = 11208]

1.
2.
3.
4.

Ad hominem / eifts & Raemw aas [Option 1D = 44826)

Irrelevant conclusion / amgifes Bresd [Option 1D = 44827)

Ad ignorantiam / sremeres s [Option 1D = 44828]
Begging the Question / @ g [Option D = 44829]

Correct Answer :-

Ad ignorantiam / armereres gin [Option 1D = 44828]

9

1) Name the fallacy in the syllogism All- IV

RIRRIfTD 3 AW @I olld  adciisel:
[Question ID = 11209]

B T

C

e Undistributed middle / s sesme [Option 1D = 44833]

Illicit minor / ade sz ug [Option 1D = 44830]

Illicit major / ade Hweus [Option 1D = 44831]

Exclusive premises / &g apenzarere [Option 1D = 44832]
Undistributed middle / srcemer seemae [Option D = 44833]

orrect Answer :-

92) Analyse the following argument and decide:

For any x, if x is an A, then x is a B.

forsaifeiRaa gfts @1 Redsaur ol iz ool it el x DR, alk x A 3, @i xB2 . X, Acigl g
[Question ID = 11210]

1.
2.

Above is valid / swfas du & [Option 1D = 44834]
Above is invalid / 3w aida & [Option ID = 44835]

3. Above is sound and valid / 3wjer 3t 2 aiiz der & [Option ID = 44836]
4, Above is Neither valid nor sound / 3uges o & 2t & aiie on & du & [Option ID = 44837]

x is not an A.

zafero x, B off 8

So, x is not a
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Correct Answer ;-
e Above is invalid / 3uzfeo ada & [Option ID = 44835]

93) A “dead” person is one whose brain functions have permanently ceased, is an instance of one of the following:

o "ga' eafto g8 safts gl & ot alaew orf raril wu A d4g & s &, forFar A 31 vos @1 JcrsIT &

[Question ID = 11211]

1. Lexical definition / =nmenras ufrmn [Option ID = 44838]
2. Stipulative definition / st afmm [Option 1D = 44839]
3. Precising definition / ggmwr af¥smmr [Option 1D = 44840]

4, Theoretical definition / Jgifers ufysma [Option ID = 44841]

Correct Answer :-

94) Which of the following depicts the operation of Transposition in logic

forsaifeiRan & 3t wia 31 ao # geaibies o Jrda @ ol sk &
[Question ID = 11212]
1. PoQ=-Qo-P
[Option ID = 44842
2. P&Q =Q&P
[Option ID = 44843]
3. -(P&Q)= -Pv—-0Q

[Option ID = 44844]
4. [(P 2Q)&P]2Q

[Option ID = 44845]
Correct Answer :-
¢ P =0 —P

[Option ID = 44842

95) If Pis True and Q is False and R is False, then which one of the following is TRUE

afe P wea & aiiz Q srared & iz R saea &, o forsaifeiRaa o 31 @diar 311 @werer wea &
[Question ID = 11213]

1. p 5 @ [Option ID = 44846]
2. poR

[Option ID = 44847]
3. poR

[Option ID = 44848]
4 Po(Q&R)

[Option ID = 44849]

Correct Answer :-
®* Q>R
[Option ID = 44848

96) If Pis True and Q is False and R is True then which of the following statements is TRUE

afeé P @ew 8 aiiz Q ataea 8 ity R aca & o PorafeiBaa & 3 oster a0 oorar e 87
[Question ID = 11214]

.pog

[Option ID = 44850]
2. R D Q

[Option ID = 44851]
3 @2Q

[Option ID = 44852]
4 (P&R)DQ

[Option ID = 44853]
Correct Answer :-
[ ]

@>0Q )
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[Option ID = 44852]

97) If P is False and Q is True then which one of the following is TRUE

afe P sraca 2 itz Q e &, A fowar 3f A ootar 31 a1ea &7
[Question ID = 11215]
1. - POP

[Option ID = 44854]
. @GP

[Option ID = 44855]
3. pop

[Option ID = 44856]
4 @QA(P&Q)
[Option ID = 44857
Correct Answer :-
s pop

[Option ID = 44856]

98) Which one of the following represents the correct translation of ‘Every student is both clever and ambitious’.

forsfer3aa 31 31 wial 711 'Y 819 i 37 Ascarpigit & ' @ & sreqare @1 yffefira war &

[Question ID = 11216]
1 (®)[(Sx » Cx) D Ax]

[Option ID = 44858)
2. (®)[(Cx » Ax) D Sx]

[Option ID = 44859]
3. ®)[(sx 2 (Cx V Ax)]

[Option ID = 44860]
4 (®[(Sx 2 (Cx + Ax)]

[Option ID = 44861]
Correct Answer :-
* (®)[(Sx 2 (Cx » Ax)]

[Option ID = 44861]

99) In a world comprising of a and b which of the following is logically equivalent to

‘(x)(FxDGx)’ and (ox) (Gxe~Ax):

a 3z b o gforn J forerfaliaa & 3 @ie a1 awser wu 2 '(x) (FXIGx)' 3iiz (Bx) (Gx  ~AX) @& HHCT &

[Question ID = 11217]
1. (Fa o Ga)V(Fb o Gb)

(Ga « ~ Aa) V (Gbe ~ Ab)

[Option 1D = 44862]
2. (Fa> Ga) = (Fb D Gb)

(Ga « ~Aa) V (Gbe ~Ab)

[Option 1D = 44863]
3. (Fa> Ga) = (Fb o Gb)

(Ga = ~Aa) » (Gbe ~Ab)

[Option ID = 44864]
4. (Fa> Ga)V(Fb o Gb)

(Ga » -Aa) +( Gb = -Ab)
[Option ID = 44865]
Correct Answer :-
® (Fa> Ga) «(Fb o Gb)
(Ga « -Aa) V (Gbe -Ab)
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[Option ID = 44863]

100) A~ o0
B:~P o~ 0
Which of the following is correct about the above logical pairs designated as A and B

1.Aimplies B

2.Bimplies A

3. A and B are equivalent
4. A and B are tautologous

A:~(PDQ)

A 3T B F =9 # Tiffd Iwied oifems 12 F fAgfaf@a # @ 19 W w8 8.

1. A B BIURITUGH (mply ) HET 8
2. B ABIURUUGH (Imply) BT 8

3.A 3R B HHJ Y (equivalent) S
4. A 3R B WIEI (tautologous) &

[Question ID = 21507]
1. Aimplies B / A B @t gidmmmzar (Imply ) et & [Option 1D = 56022]
2. Bimplies A / B A &1 gfequiea (Imply ) assct @ [Option ID = 56023]
3. Aand B are equivalent / A 3fiz B smcea (equivalent) & [Option ID = 56024]
4., A and B are tautologous / A 3fiz B z@aaee (tautologous) & [Option ID = 56025]

Correct Answer :-
e Aimplies B / A B @ gfmaea (Imply ) @t & [Option 1D = 56022]
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